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PART —-1I
ARITHMETIC: 30 Marks

Instructions: Each question under this section carries ONE mark. Please read
each question carefully and answer them by selecting the right one out of the
multiple answers given below each as A, B, C & D.

1. The average of six numbers is 9. If the average of first five of these numbers is 8,
what is the sixth number? '
226 Qe QINQIA 9 86e | 98 CHIfIRE ANQ gaA alEd adia QIAIQIA 8
QY. 606Q S8 AGHIG 6a60 7 ,
(A) 11 B) 12 Cyis. (D) 14

2. An amount of Rs. 1050 is distributed among A, B and C in the ratioof 2 : 5 : 8.
What is the difference between the shares of C and B?

1050 o&iqQ A, B G C FMEQ 2 : 5 : 8 URAIFER Q14 QAN | C 6 B Q@ Q9
2 6REQ ? -
(A) Rs. 70 (B) Rs. 140 (C)Rs. 210 (D) Rs. 280

3. A and B enters into a partnership investing Rs. 15000 and 20000 respeétively. If
at the end of the year, the amount of proﬁt earned is Rs 14000, what will be the
shares of profit of A and B?

A G B Q@ @€ QI Qe 6AIGY QYedIOEa Qallesd 15000 9@l 6 20,000
G 0&91 G6adl Q6m | 98 QF 6EScQ 14000 66 RIQ QY, €06@ A G B @ @I@I"‘Sl

6R60 7
(A) Rs. 6000, Rs. 8000 ‘ (B) Rs. 7000, Rs. 7000
(C) Rs. 5000, Rs. 9000 (D) Rs. 4000, Rs. 10000

4. If the cost price of 24 eggs is equal to the selling price of 20 eggs, then what
would be the percentage of gain or loss in this transaction?

(A) 16 E% gain (B) 20% gain (C) 16 E% loss =~ (D) 20% loss

93 24 § 2QQ QUARY 20 § YLQ G99, AR Ag adie QY, €069 YQ @418qI6a
3felatel] e@ge AQ @l 86 6QQ ? :

(A) 162 S%ae - (B)20% A9 (C) 16 g% 6 (D) 20% S

5. A and B complete the job in 16 days, while A, B and C can complete i iy 12
days. In how many days C alone can finish the job?

A G B 66lIGY @l@q@ 16 306a 668 @Q CIQG, 60696a6R A B G C Y@ @IQH@ 12
306Q 6818 RQAIQR | 606a C YIS @IQ‘TG‘@ €R6E Beca a8 @Q@IQ@Q ?

(A) 24 e B (C) 36 (D) 48
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6. Two taps can fill a tank in 10 hours and 15 hours respectively. If both the taps are
opened together, how much time will they take to fill the tank?

@@G‘ ad on caIGY QUi delger! 10 ded G 15 d&liea Oég Q0108 | 2@ @@G‘
Glé@@@ ¥RI0 64lIR d2IgIv, 696Q @WIQ@ Qég 6Q019 6269 A1 AU ?

(A) 8 hours (B) 7.5 hours (C) 6 hours (D) 5 hours
7. A train travels 300 Km in 2.5 hours and 450 Km in 5 hours. Find out the averagé
speed of the train? :

6AIGY 69Q 2.5 QR 300 AA. 6 5 Q&ieq 450 @F. BGe Q6@ | €9ada
QALIQ €6 6RES ? \

(A) 10 Km/h ~ (B) 50 Km/h (C) 100 Km/h (D) 125 Km/h
8. A boatman can row 3 Km against the current of the stream in 30 minutes and '
. return in 20 minutes. Find out the speed of the current?

@68 R Q! 64I9R GG’@@GQ 30 ﬂQG'GQ 3 @.4. a@m QIQOIQ@ G 20 QQG‘GQ
CORDIAE | 69109 696 6060 '7

(A) 7.5 Km/h (B)5Km/h (C)2,5Km/M - @)1.5 Km/h
'9. The ratio of speed of a car, a truck and a bus is 5 : 2 : 3. The average speed of the

~ car, truck and bus together is 60 Km/h. What is the average speed of the car and
truck together?

Ve @9, Y9 99 G Y@ QdQ 62dq AQdle 5:2:3 | @IQ g G QdQ V@Y @6
QIQIQIQ €Q6! Q@I@ 60 @4 | @A G @A VR Q6 QIQIQIQ €96l 6REQ ?

(A) 63 Km/h (B) 72 Km/h
(C) 45 Km/h (D) can not be determined

10. Zinc and copper are in the ratio of 6 : 5 in 220 gm of an alloy. How much gm of
copper can be added so as to make it in the ratio of 5 : 6?

220 g9l AGRIGER @Ql ¥Q° 9FIQ BQaIe 6:5 Ao | 6aBER 2R 6a69 gIfl 9F
felqem . fguioca agl Ye° 97IQ AQEIS 5:6 629 7

(A) 20 (B) 44 (©) 60 (D) 72
11. Present ages of Arpita and Sonali are in the ratio of 7 : 9. Three years hence the
ratio of their ages becomes 4 : 5. What is Sonali’s present age in years?

adol 6 PR QAR Q0dQ 2QaIe 7:9 26T | daed aca capipER Q8aQ
BIQE]I@ 4:5 62 | cdlIMQ Q@ﬂl@ QQEI Ca6e Q§7

(A)9 B) 18 (€)27 (D) 36

12. In what time Rs. 1500 will become Rs. 1815 at the rate of simple interest of 7%
per annum? .

Qe A F0a0l 7 QISR 1500 @l 6260 dANLQ 1815 '@l 6Q@ ?
(A) 1; years (B) 2 years © 2; years (D) 3 years
LI-2021/A :



18.

14.

15.

16.

17.

18.

19.

20.

5
What will be the difference between compound interest and simple interest on Rs.
1200 for two years at 5% per annum?

Qe 66901 5 QLR 1200 GHIQ QA 9F6a 0998 QM 6 JARIYR TR 6R6H
Qa7

(A)Rs. 3 (B) Rs. 4 (C) Rs. 6 "~ (D)Rs. 8
Which of the following numbers will fill the gap in’ the series 1, 9, 25, 49,
A St B '
1,9, 25,49, ----- , 121 2Qadq QQ‘@I@GQ 6@@ Qo QQa ?

(A) 64 (B) 81 (Eyigp (D) 144

The product of two numbers is 96 and their difference is 10. What is the sum of
the two numbers?

QRe araiia QEIFR 96 G CAFIRER YR 10 8EE' | 6069 mw QREQ calGem
@60 7~

(A) 16 (B) 22 (C) 32 (D) 36

The sum of two numbers is equal to 30 and their dlfference is 6. What is the ratio
of the two numbers? ‘

: Q@@ GHIQ ediclciy 30 G ARG LR 6 S6C | ‘21°%1‘1| @@G‘Q QAo 6n6Q ?

(A)8:7 (B)5d (€82 (By2vt]
What is fhe sumof6+7+8+...... +16?

Ot TR o + 16 Q ISR 6R6Q ?

(A) 105 (B) 120 (©) 121 (D) 136

If the perimeter of an equilateral triangle is 24m, then find out its area?
94 6AITY AAQIg QR QAT 24 A. @Y, 6069 YQIQ IR 6R6Q ?
(A) 8v/4m? (B) 9v/3m* (C) 12¢3m* (D) 16v/3m”

The area of a rectangular field is 18000m”. The ratio of its length and breadth is
5 : 4. Find out the length and breadth of the field respectively?

€aITY ZIBIRIQ CPZIQ 8o 18000 Q4L.A. | VQIQ 63T 6 gga gQaIe 5:4 |
A021Q 60T G g SIeIQEs Q69 7

(A)200m, 90m  (B)300m, 60m  (C)150m, 120m (D) 180m, 100m

How many small cubical blocks of side 6cm can be cut from a cublcal block
whose each side measures 24cm?

24 624, QIQQdie 66TV AAANINIQ aQlde 6R6e QT 6 6a.4. @lg@@& 6216
JAARIRIQ 921860 ROILIQAINR ?

- (A) 64 (B) 56 (C) 48 (D) 36
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21.

22,

23.

24,

25.

26.

27.

28.

29.

30.

If the radius of a sphere is doubled, then its surface area is increased by ?
08 6AIFY CHINeR SIS QagE AAICI, 6R6Q YLIR JHERE CHQLHR 6R60 98
6RQ 7 ' ; '

(A) 300% (E) 200% (C) 100% (D) 50%
V=729 x+/441=_ ?2.
(A)-99 (B) -121 (C) -189 (D) 189.

What is the smallest number to be added to 1000 to make the sum divisible by
both 22 and 6?

1000 60 608G SIQOF G 6AIGRER CAIFIER QAL, 22 6 6 QoI FaI@Y 69 ?

(A) 10 - (B) 56 (C)46 = (D) 66

The difference of two numbers is 25% of the greater number If the smaller
number is 30. What is the greater number?

@6&6‘ LHIQ RN, 9 AR F9Q0! 25 26F | Aie AGHIT 30 66R, 99
QGG 660 ?

(A)35 . (B)40 (©) 50 D) 60
(0.031Y2 = g :
(A) 0.961 (B) 0.0961 © (C) 0.00961 (D) 0.000961

The difference between the squares of two consecutive numbers is 25. What are
those numbers?

QAT GAIGIE AEHIQ AEIQ UQR 25 6 | 606Q AGl QL 6RES ?

(A) 11, 12 (B) 12, 13 (C) 13,14 (D) 14, 15
Find out the ratio of the LCM and HCF of 32 and 48.

32 6 48 Q Alg. 6 91.419. Q AQUIS 6Q6Q ?

(A)6:1 B)4:3 (C)3 12 @5 - 1

W.hat is the value of ?

i
Vo Ve

N
(A);(s-zﬁ) (B)

3l ; .
T () 312072 st 3 DY B+ 22

Which of the following numbers is the greatest?
FANGO QLEMIAINE ARG QA6 9eas ?
(A) (0.2)? (B)1+0.2 i (D)V/0.36

If the given two numbers are respectively 6% and 24% of a third number, then
what percentage is the first number of the second number? -

98 goa Qad et 9o19 APHIQ SeIREA PG 6 Te° E0RQI 24 @V, 606Q
daia QaMIe Qa1 AGHIQ A9RR! 6R6Q 7

(A) 15% (B) 20% (€) 25% (D) None of these
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31.

32.

33.

34.

35.

: PART - 11
ENGLISH LANGUAGE : 10 Marks

Instructions: Each question under this section carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

None but the brave deserves the fair.
(Choose the correct part of speech of the underlined word)

(A) noun

~(B) pronoun

(C) preposition

(D) conjunction

Hari deals rice and vegetables in the market.
(Fill in the blank with appropriate preposition.)

(A) with (B) on

(C)in (D) about

They have postponed the meeting because of bad weather.
(Choose the correct phrasal verb of the underlined word)
(A) put up : (B) put on

(C) put down . (D) put off

Which of the following sentences is grammatically cofrect?
(A) Ganges is considered hQIy by the Hindus.

(B) The Ganges is considered holy by the Hindus.

(C) The Ganges are considered holy by the Hindus.

(D) The Ganges is considered holy by Hindus.

John Hawkinsis  European.

(Fill in the blank with appropriate Article.)
(A) an '
(B)a

(C) the

(D) none of these

LI-2021/A : P.T.O.



36.

37.

38.

39.

40.

His writing is such that cannot be read.

(Substitute one word for the underlined wotds.)
(A) legible

(B) ineligible

(C) illegible

(D) eligible

The word ‘pessimist’ means -
(A) A person who believes in the existence of God
(B) A person who does not believe in the existence of God

(C) A person who looks at the dark side of life or things

(D) A person who looks at the bright side of life or things

It rained cats and dogs yesterday.

(Choose the correct meaning of the underlined phrase)
(A) slowly

(B) irregularly

6 bioaviky

(D) recently

The black cobra is a snake.
(F1ill in the blank with correct spelling of the word.)

(A) venomus

- (B) venomous

(C) vanomous

(D) vanomus

The poultry not been fed.

(Fill in the blank with correct form of verb.)
(A) has |
B)is -

(€):arc

(D) have

LI-2021/A



41.

42,

43.

44,

45,

PART -III
‘ ODIA LANGUAGE : 10 Marks
Aedelant : ¥Q QI9Q g6aie g9a a0 aaQ il e A1 Q3] | faRde geede

n o o

99, 42RI6a €eQ Ye° 6 96r GaNIRZRI QAR AIRE AXQ 408 aaQ Ade 9ag |

“UAnel 2l QRQ Al @8l ?
(A) Q2 dQI8Q @8l @34

(B) Q2 ¥9@

(C) 6216 QeIQ 90 A

(D) 916 Qe

0@ §eG QI8 AANGS QIIQ a4 4If 9ad @a |

“ ARGIQ Fg @l @8l aPdelq Qldie BIsEa 6 ------ de da &Qa I”
(A) @Q%1 (B) 69R
(C)Qgae \ (D) QQ©|

“QRml A18I6Q 6l @ 6QQI” CRINIGIA e @8l ?
(A) AR 621 AT @A

(B) €9 4969l dQ QIf @Al

(C) 91&66IR6R @ adal

(D) W1Q 2a QI6e 19T @9

g9 agle 29l 696 QI |
(A) 294919
(B) 2Q99I@
(C) &QaeIe
(D) ZQerale

“QQ A’ @9 @ 096 QIQe §F
60129 AQIQ 67 A ARea,”

| QUEAIS RROLEE « @RQF” @F0IQ U@ B°6 B6e | V@ 9Re! §Y cREsism ?

(A) ARIFOR QUG
(B) AJ90R Qg
(C) QIR QUL
(D) |aQle Qg

LI-2021/A ; P.T.0.
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46. “Cigarette smoking is injurious to heath” ¥QIQ 40 6@l 2QQIQ @& ?
(A) g0 deiades S0RIaR 26s | | '
(B) 30 6 dIf 9910068 SPRI0R 286G |
(C) YAdIn Q068 S0qIOe 26e' |-
(D) QU6ala A9d QA 0] 266 |

47. 9ee Qdeal caIRq! dIE 6Re 6gIelR (slogan) AR FQULNT 7
(A) Better late than never ;
(B) Speed thrills but kills
(C) both A and B
(D) None of these

T 890996 Q194 86T ?

93(

48. GRG0 6@
A)
B)

©)
®)

)

~

& 604I6a AR6E @16 |
Q& 6§

)

FlEQ @Y @ QI68 ?

~

Sl

D)

Q@G Q416Q QQlw Qe QQ@ I

~

Qq!

Qal

Q9IQ
2l

D)

e 08 656I6a AR R4l |

o

49. “QIBlF QARE 60IQUR 679l €6Q AUAQ GaQ SOIR AE9B UCRTE Q6R 17
(QE6QUB QM6 EQl g deq L)
(A) QUA9Q
(B) Q4@
(C) 9do8
(D) 26qsél
50. HEAGE AIIYER AUIQ €6 AT QI |
(A) ATRGQQ SNORSR QIGI CREQIQ 90 cRIRAIEH I8 |
(B) ARl AQI6Q 2IQIRg® @R0I68 6lIel CORgiem |
'(C) ae @9 digee edeicq degg |
(D) F9091 96949 fISAINE 96| dRIR6M |

LI-2021/A



51.

52.

53.

54.

55.

11
PART -1V
GENERAL AWARENESS : 20 Marks.

Instructions : Each question under this section carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

Which one of the ‘following is the largest district of Odisha in terms of area?

(A) Nayagarh (B) Mayurbhanj (C) Malkangiri (D) Cuttack
RAMGIY ANQ BLEIQ CRQ @Rl CHQR dpdieq d0Iq Q@9 ? :
(A) eolQ (B) AL (C) AlIRRIAEa (D) @6'@
Who was the founder of Satyabadi Bana Vidyalaya in Odisha?

(A) Madhusudan Das (B) Madhusudan Rao

(C) Subhash Chandra Bose (D) Gopabandhu Dash

GHIIQ 4RYRIQ 9 FAIRAQ JORIGI &Y ?

(A) AYdee Qg (B) Algeq QG

(C) 9IS 99 69I8 (D) 6511Q2 Q14

‘National Voter’s Day’ is celebrated on which date?

(A) 15" January (B) 25™ January

(C) 15" February (D) 25™ February

“QIEIC, CRISRIOI G9d” 6aQ SRR CIRY SN ?

(A) R8 @@ (B) 98 @lQalay

(C) Q8 I (D) 98 ccraio

Which Indian Olympian’s autobiography is ‘unbreakable’?

(A)P. V. Sindhu (B) Sania Mirza
(C) Mary Kom | (D) Rani Rampal
“YRCACAIN” AE QIQ91G, BRER 9PeaIaNE AQ9RS ?
(A)8.4 da ' (B) Qe fal
(C) 67101 6RIST : (D) AL AR

How many emergency provisions are contained in Indian Constitution?

(A)1 (B) 2 e S (D) 4
QIAB1E, ATFER RQARNNR JRET LRIFER 60691F @4agl QTS ?
(A) R ®B)9 ©o D) s

LI-2021/A v P.T.O.
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56. Which city of Gujarat has recently found place in World Heritage list of Z
UNESCO as an ancient city of Harappan civilization?

(A) Patan (B) Dholavira (C) Champaner (D) Ahmedabad

HRGEQ JRACTA 698 929 2090 da1PIQ gI91e AQa @Ise UNESCO @ Q4
WO 0IRRIeq gIe dIQig ?

(A) d9IQ (B) cIR@Q - (C) e%dieQ (D) 2Q9Q1QIQ

57. The landmass which is surrounded by water from three sides is called -
(A) Isthmus (B) Atoll (C) Peninsula (D) Barrier reef
60Q QACER GRAIE SRQIQl ARETL 6QIRLINY, 19 @6 QQIAIN ?
(A) @8gIAg (B) V66IR (C) cabagml (D) QI02Q, Qer

58. Who is the composer of National Anthem of India?

(A) Bankimchandra Chatterjee (B) Aurobindo Ghosh
(C) Rabindranath Tagore (D) Mohd. Igbal
QAR QUG AN QTR @Y ?

(A) @RNI0Q QIQIT (B) 20@9 6qld

(C) Q89518 QI6aIa (D) Q70 QAR

59. Who among the following can remove the Governor of a state from office?

(A) Legislative Assembly (B) 'Parliament

(C) President . : (D) Supreme Court
GARGIS Y @Y UMCIRG Bl& 9091Q A FQUIQQ ?
(A) QUIRAQ) (B) g°qQ

(C) QU8 (D) Q997 MR,

60. Who are the two Silver Medal winners from India in Tokyo Olympics — 2020?

(A) Mirabai Chanu and Bajrang Punia
(B) Mirabai Chanu and Ravi Kumar Dahiya
©) Mirabai Chanu and Lovlina Borgohain
(D) Mirabai Chanu and P. V. Sindhu
a6 QAR QI9ILL 6e1AG BRTR- 9090 6a cald dee Gcae! dem 7
(A) fQieia 919 ve° @easr ghel
(B) AalQia 919 ¥9° @R @aIq adal

(C) fiaieia 919 Y9° ReRA! 6RIsaIsE
(D) faieia g e 8. & de |

LI-2021/A
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What type of missile is New Generation Akash Missile (Akash — NG)?
(A) Surface to air missile ‘ ,

(B) Air to air missile

(C) Surface to surface missile

(D) Intercontinental Ballistic missile

04, 6e6REadn 2IRIE caaalg (2IRIE-Y0.8) 6aa gelaa esaeIg ?

(A) QFQ dIQlél c8a8Ig

(B) 21619 2D 688N

(C) @ @f csa8lig

(D) FQI6046 Q AQICRQ F6SaR 68aEIE

Which virus causes ‘Bird Flu>?

(A) HIN1 (B) H2N3
(C) H3N2 (D) H5N1
626 @016 ‘Bird Flu “ Q Q1Qél 26e' ?

(A) ¥9QYAQ | (B) ¥9.99QN
(C) ¥9NIQ 9 (D) 9980 @

Who is known as the father of White Revolution in India?
(A) M. S. Swaminathan

(B) Dr. Hiralal Chaudhury

(C) Dr. Verghese Kurien

(D) Dr. Arun Krishnan

@Y QAR 660 YR ANR QIR TS ?

(A) V91, V9 Qenaleln

- (B) @8 QIQURIR 6211

(C) 83 QREI1@ QIR
(D) 98 8QE @8R

M. S. P. relating to procurement of food grains is an abbreviation for which of the
following?

(A) Minimum Standard Price (B) Maximum Standard Price
(C) Minimum Support Price (D) Maximum Support Price
GIQI6IQd Qrge Q0@ Y8 ARG FNg SIQIQ Qesas ?

(A) 9984 AIAR qat . (B) Q6Q1Q% AIRR AIRY

(C) Q5G9 A9 Fa (D) @edIan aeIue fn

LI-2021/A P.T.O.
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65.

66.

67.

68.

69.

70.

‘D.P.T.” vaccine stands for which of the following?

(A) Diarrhoea — Pertussis - Typhoid (B) Diptheria — Pertussis - Tetanus

(C) Diptheria — Pneumonia - Typhoid (D) Diarrhoea — Pneumonia - Tetanus -
FORGe Mg “DP.T.” Gal QIQl 0IQ QR 7 _

(A) 91002I-09da-C1RErIQ (B) 9a6a@-a9da-Ge1aq

(C) Gacatzl-FeA1Rel-S1aene. (D) elaGel-FerIfel-de1eg

Who among the following was the first Odia writer to receive Jnanapitha Award?

(A) Sitakanta Mohapatra (B) Sachidananda Routray
(C) Gopinath Mohanty (D) Prativa Ray

AARGe ARG caa gaf 6T CASR BIREI0 gela ARdeR ?

(A) Q101N AQIAIQ - (B) dR9IGQ QA9

(C) sqlienalel 9118 (D) goal Qg

Which is the highest mountain peak of Odisha? }
(A) Gandhamardan (B) Mahendragiri (C) Deomali (D) Gorumahisani

6RAG GR4IQ Q9N TGP Uee ? ,
(A) 999190 (B) £162261Q (C) 6Q6AIR (D) 661QAQ4lléN

Barehipani waterfall comes under which National Park/Wildlife Sanctuary?

(A) Similipal National Park (B) Sunabeda Wildlife Sanctuary
.(C) Bhitarkanika National Park (D) Tikarpada Wildlife Sanctuary
Q6RRAIE GRYAIS (a6 QYD AMIR/A04GIEN AQUNEY 2GS 7

(A) GARAIR QUYL QMR (B) 40169@ QR4gIEN 2R
(C) Q0aaRal UL QaYe (D) RQ0Q! 9RGI&N QR8N

Tsunami is caused by which of the following?

(A) Hurricane (B) Earthquake (C) Tornado (D) Thunderstorm

RANGIO ANQ 620G galda KIQ8l 86e ?
(A) 691G (B) @f«d (C) Q&alavl (D) €9

Which district of Odisha is the largest producer of rice?

(A) Koraput (B)' Bolangir - (C) Bargarh (D) Cuttack
636Ia cad aRiea aelye VIR AgIee QY ?

(A) 6RIQIgE (B) QORISR (C) @961 (D) @eR

LI-2021/A
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PART -V
PHYSICS: 15 Marks

Instructions: Each question under this section carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D. :

The presence of a magnetic field at a point can be detected by
(A) a strong magnet (B) a solenoid

(C) a compass needle (D) a current carrying wire

Which of the following is not an example of a bio-mass energy source?
(A) Wood ~ (B) Gobar-gas
(C) Nuclear energy : (D) Agricultural wastes

A train starting from rest attains a velocity of 72 Km/h in 5 minutes. Assuming
that the acceleration is uniform, find out the distance travelled by the train for
attaining this velocity.

(A) I.5Km : (B) 3 Km
(C)4.5Km : (D) 6 Km

An object of mass 100 Kg is accelerated uniformly from a velocity 4 ms” to
8 ms™ in 8s. Find out the magnitude of the force exerted on the object.

(A) 5N (B) 15N
(C) 50N (D) 150N

A batsman hits a cricket ball which then rolls on a level ground. After covering a
short distance, the ball comes to rest. The ball slows to stop because

(A) the batsman did not hit the ball hard enough.
(B) velocity is proportional to the force exerted on the ball.
(C) there is a force on the ball opposing the motion.

(D) there is no unbalanced force on the ball, so the ball would want to come to
rest.

‘Mass of an object is 30 Kg. What is its weight on the surface of the moon?

(A) 98N (B) 9.8N ~ (C)49N (D) 49N

Find out the energy in kWh consumed in 10 hours by four devices of power
500W each. = ‘

(A) 20 (B) 10 - @5 (D)2

LI-2021/A : ‘ P.T.O.
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78. A ball of mass 0.5Kg slows down from a speed of 5ms” to 3ms™. Find out the
change in kinetic energy of the ball.

(A)-17 bt (B) -2J
(C) -4 (D) 47

79. The frequency of a source of sound is 100Hz. How many times does it vibrate in

a minute?
(A) 3000 - (B) 6000
(C) 600 (D) 100

80. Which of the following quantity determines the loudness of a sound wave?
(A) Wavelength : (B) Frequency
(C) Amplitude (D) None of these

81. Find out the focal length of a lens of power — 2.5 D.
(A) -0.5m (B) -0.4m
(C) 0.5m : : (D) 0.4m

82. An electric bulb is rated 220V and 200W. When it is operated on 110V, the
power consumed will be

(A) 25W (B) 50W
(C) 100W (D) 200W

83. The splitting of white light into its component colours is called
(A) dispersion ' (B) reflection
(C) refraction (D) None of these

84. Which is known as near- sightedness?
(A) Presbyopia (B) Myopia
(C) Hyper metropia (D) None of these

85. The device used for producing electric current is called a
(A) generator (B) galvanometer

(C) ammeter (D) motor

LI1-2021/A
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PART - VI
CHEMISTRY: 15 Marks

Instructions: Each question under this section carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

Which one of the following is a correct electronic configuration of chlorine?
(A)8,7,1 (B)2,8,1
©) 2,7,8 (28,7

What happens when dilute hydrochloric acid is added to iron fillings?
(A) Hydrogen gas and iron chloride are produced.

(B) Chlorine gas and iron hydfoxide are produced.

(C) No reaction takes place.

(D) Iron salt and water are produced.-

What is the pH of an acidic solution?
(A)7 B)>7
(C)<7 : » (D) None of these

Propane with the molecular formula C;Hg has
(A) 7 covalent bonds (B) 8 covalent bonds
(C) 9 covalent bonds (D) 10 covalent bonds

Which of the following elements has a sihgle electron in its outermost shell?
(A) Magnesium (Mg) (B) Sodium (Na)

(C) Neon (Ne) (D) Calcium (Ca)

The only products of neutralization reaction are

(A) Salt and oxygen ; (B) Salt and hydrogen

(C) hydrogen and oxygen (D) Salt and Water

On adding water to sodium the solution formed is
(A) neutral (B) alkaline
(C) acidic : (D) amphoteric

LI-2021/A : : : P.T.O.
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93. Which is not a greenhouse gas?
(A) CO, ; (B) CO
e, D)N0
94. What is the mass of 2 moles of water molecules?
(A) 32gm (B) 34gm
(©) 36gni : . (D) 38gm

95. What is the change of gaseous state directly to solid state without going through
the liquid state and vice versa? ‘

(A) Melting - (B) Freezing

(C) Evaporation (D) Sublimation
96. The force of attraction between same molecules is called as

(A) cohesive force (B) adhesive force

- (C) electrostatic force (D) None of these

97. Metal which exists in liquid state at room temperature is
(A) Sodium | (B) Potassium
(C) Calcium (D) Mercury

98. Which>of the following materials falls into the category of a “pure substance”?
(A) Milk (B) Brick
(C) Iron (D) Air

99. The formula of ferric sulphate is
(A) Fe3(SOq)3 : (B) Fe3(SO4),
(C) Fex(SO4)3 (D) FesSO4

100. Isotopes of an element have

(A) the same physical properties. (B) different chemical properties.
(C) different number of neutrons. (D) different atomic numbers.

LI-2021/A
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PART - VII
BIOLOGICAL SCIENCE: 30 Marks

Instructions: Each question under this section carries ONE mark. Please read the
instructions carefully and answer the questions by selecting the most appropriate
answers out of the multiple answers given below each as A, B, C & D.

Total amount of ATP produce in aerobic respiration is
(A)2 ATP (B) 12 ATP
(C) 36 ATP (D) 38 ATP

Depletion of Ozone molecules in the stratosphere is due td
(A) Halozen compound
(B) Fluorine compound
(©) Chlorine compound
(D) None of these

Nitrogen, phosphorus and potassium are what kind of plant nutrients?
(A) Micro-nutrients ‘ :

(B) Macro-nutrients

(C)‘Non-essential nutrients

(D) None of these

Deficiency of ADH (Antidiuretic Hormone) causes which of the following
disease? SARCS :

(A) Diabetes mellitus
(B) Diabetes insipidus
(C) Grave’s disease

(D) Cretinism

Electrical impulse travels in a neuron from

- (A) Dendrite — axon — axonal end — cell body

(B) Cell body — dendrite — axon — axonal end
(C) Dendrite — cell body — axon — axonal end

(D) Axoha] dhd = axdn cell body — dendrite

LI-2021/A : " P.T.O.
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106.

107.

108.

109.

110.

111.

112.

113.

Involuntary action in body are controlled by

(A) Medulla in forebrain

(B) Medulla in mid brain

(C) Medulla in hind brain

(D) Medulla in sp.inal cord

In photosynthesis process, atmospheric carbon dioxide} is
carbohydrates. ‘

(A) Oxidised (B) Reduced
© Neutralised (D) Burnt
Human beings nutrition can be categorized as

(A) Saprophytic (B) Parasitic
(C) Symbiotic (D) Holozoic

to

The enzyme pepsin is inactive in stomach without the presence of which of the

following acid?

(A) Nitric acid ' (B) Acetic acid
(C) Hydrochloric acid (D) Butyric acid
Right part of human heart contains

(A) Oxygenated blood ‘
(C) Mixed blood ; (D) None of these

Haemoglobin shows maximum affinity with which of the following?

(A) CO ' (B) CO,
(C) O, (D) NH;
The number of autosomes in a human body cell is
(A) 44 (B) 46
(C) 42 (D) 40

Filtration unit of nephron is

(A) Kidney (B) Bowman’s capsule

(C) Glomerulus (D) Tubular region

LI-2021/A
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116.

117.

118.

119.

120.

121.

122.

Which of the following blood cells plays a role in defence mechanism?

(A) W.B.Cs (B) Platelets
(C)R.B.Cs (D) None of these

Bone matrix is rich in which of the following? -
(A) Fluoride and Calcium

(B) Calcium and Phosphorus

(C) Calcium and Pottassium

(D) Phosphorous and Pottassium

Nervous tissue is not found in which of the following?
(A) Brain * (B) Spinal cord
(C) Tendons (D) Nerves

Fats are stored in human body as |
(A) Cuboidal epithellium | (B) Adipose tissue
(C) Bones : (D) Cartilage

Flexibility in plants occurs due to which of the following?
(A) Collenchyma (B) Sclerenchyma
(C) Parenchyma (D) Chlorenchyma

The living cells present in a compact bone are called
(A) Chondroblasts ' (B) Adipocytes
(C) Osteoblasts (D) Scleroids

Chromosomes are made up of
(A)DNA . (B) RNA
(C) Protein (D) Protein & DNA

Which of the following are present in plant cells and not in animal cells?
(A) Mitochondria and Plastids ‘ (B) Mitochondria and Cell Wall
(D) Cell Wall and Plastids

(C) Cell Wall and Lysosomes

Lipid molecules in the cell are synthesized by
(A) Smooth endoplasmic reticulum » (B) Golgi apparatus

(C) Rough endoplasmic reticulum (D) Plastids

LI-2021/A
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123.

124.

125.

126.

127.

128.

129.

130.

If ribosomes of the cell are destroyed, then
(A) respiration will stop. :

(B) fats will not be stored.

(C) carbon assimilation will stop.

(D) proteins will not be formed.

Which of the following is also termed as somatic cell division?
(A) Mitosis : (B) Meiosis
(C)BothA & B (D) None of these

What is the phylum of Octopus?

(A) Arthropoda (B) Ctenophora

(C) Mollusca (D) Annelida

A fertilized ovule devélops into a in an angiospermic plant.
(A) Seed (B) Fruit

(C) Flower (D) Cotyledon

Vegetative propagation refers to formation of new. plants from
(A) Stem, roots and flowers

(B) Stem, roots and leaves

©) S';eni, flowers and fruits

(D) Stem, leaves and flowers

Out of the following which is a growth inhibitor hormone in plants?
(A) Auxin (B) Cytokinin
(C) Abscisic Acid (D) Gibberellic Acid

The upvyard and downward movement of the shoots and roots respectively under
the influence of gravity is called

(A) Hydrotropism (B) Geotropism
(C) Phototropism (D) Nastic movement

In a food chain, the third trophic level is always occupied by
(A) Carnivores (B) Herbivores
(C) Decomposers (D) Producers

LI1-2021/A
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